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Run74 (CDT Tag, 37.5 kW)
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3pi0 background of piOpi0
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Black : Fusion case
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KLpipipiO M.C.

* Adjustment of veto window was done
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Background property

* From 22 events,
— 1 event : Accidental Effect
— 1 event : narrow veto window[30,65] time : 29.7
— 1 event : low energy deposit(0.37 MeV, on-time)

— 19 events
 Near rear surface of Csl
 No interaction with newBHCV
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Pointing (y)
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Pointing (z)
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MBCV ModID2
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Old Runs
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Run78 (CDTTrlg, L3Tag, No COE)
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Fine t0 from 5g+1g analysis

BarrelVTZTime-CsIVTZMeanTime:BarrelMod {BarrelTag==3} BarrelVTZTime-CsIVTZMeanTime:BarrelMod {BarrelTag!=3}

h h

-30 —_—— == —

Entries 89266
Mean x 245
1 Mean y 46.4
RMS x 17.46
3.176

— By Entries 70236

o — i Mean x 16.22
Meany -42.03

RMS x 9.318

RMS 4.098

—40

30

20




|
N
(8]

Center decision

|IIII|IIII|I'I'II|IIllllll
H
H

CrrTT

5 10 15 20 25 30



Run stability
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